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QUESTION 1

During an implementation, customer is in the process of planning supply requirements. Customer also needs to
generate forecast and safety stock levels. Which plan type on the plan options should the customer be running? 

A. Demand and Supply Plan 

B. Safety Stock and Forecast Plan 

C. Demand Plan 

D. Supply Plan 

E. Integrated Plan 

Correct Answer: B 

 

QUESTION 2

Which four types of supplies can be reserved to a sales order in the inventory? (Choose four.) 

A. Work orders 

B. On-hand inventory 

C. Purchase requisitions 

D. Purchase orders 

E. Transfer orders 

F. Planned Orders 

Correct Answer: ABDE 

Reference: https://docs.oracle.com/cloud/r13_update17c/scmcs_gs/FAUPC/FAUPC2137548.htm#FAUPC2137548 

 

QUESTION 3

A supply plan has just been run that contains a configured item. You notice that the sourcing rules of the base model
were used instead of sourcing rules for the configured item. Why did this happen? 

A. No sourcing rules have been defined for the configured item. 

B. The sourcing rules of the base model overrode the sourcing rules of the configured item. 

C. It is not possible to create sourcing rules for the configured item; all configured items always use the same sourcing
rules as the base model. 

D. The sourcing rules of the base model had a priority of 1, while the sourcing rules of the configured item had a priority
of 2. 
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E. No planning percentages were defined at the operation level within the work definition. 

Correct Answer: A 

 

QUESTION 4

Your client wants their supply plans to have a customized group of exceptions. What two steps must you complete in
order to make sure only these exceptions are included when running all of your client\\'s supply plans? (Choose two.) 

A. Manage Plans > Select each supply plan > Edit each supply plan > Manually add each exception specified by client 

B. Configure Exceptions > Expand Supply Planning Exceptions > Highlight lines with exceptions specified by client >
Click \\'Add to Exception Set\\' 

C. Configure Exception Sets > Create exception set > Add exceptions specified by client 

D. Select \\'Add to Supply Plan\\' button > Select which supply plans you want to have this group of exceptions 

E. Manage Plans > Select each supply plan > Edit each supply plan > Add your exception set to Plan Options for each
supply plan 

Correct Answer: BD 

 

QUESTION 5

Which KPIs are available to measure forecasting accuracy and specify how these measures aggregated from item-
organization level to higher levels. 

A. MAPE, MAD, and Bias are used to measure forecast accuracy. MAD and Bias are aggregated using sum. MAPE is
aggregated using weighted average. 

B. MAPE, MAD, and Bias are used to measure forecast accuracy. MAPE and Bias are aggregated using weighted
average. MAD is aggregated using sum. 

C. MAPE, MFE, and Bias are used to measure forecast accuracy. MAPE and Bias are aggregated using weighted
average. MFE is aggregated using sum. 

D. MAPE, MFE, and Bias are used to measure forecast accuracy. MAPE and MFE are aggregated using weighted
average. Bias is aggregated using sum. 

Correct Answer: A 
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